
https://www.geekcert.com/ns0-153.html
2024 Latest geekcert NS0-153 PDF and VCE dumps Download

 

 

 

NS0-153Q&As

Network Appliance Storege Networking

Pass NetApp NS0-153 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/ns0-153.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by NetApp
Official Exam Center

 

 

Latest NS0-153 Dumps | NS0-153 VCE Dumps | NS0-153 Exam Questions                                1 / 3

https://www.geekcert.com/ns0-153.html
https://www.geekcert.com/ns0-153.html
https://www.geekcert.com/ns0-153.html


https://www.geekcert.com/ns0-153.html
2024 Latest geekcert NS0-153 PDF and VCE dumps Download

QUESTION 1

Which security method encrypts the data? 

A. IPSec 

B. CHAP 

C. LUN masking 

D. Header and Data Digests 

Correct Answer: A 

 

QUESTION 2

If the client is a CIFS client, locks are _____. 

A. advisory 

B. mandatory 

C. ordered 

D. optional 

Correct Answer: B 

 

QUESTION 3

In Data ONTAP the root user is exempt from these two quotas: _______. (Choose two.) 

A. group quotas 

B. user quotas 

C. tree quotas 

D. root quotas 

E. file quotas 

Correct Answer: AB 

 

QUESTION 4

Applications, such as databases, running on NAS or iSCSI or FC SAN must be _________. 

A. prepared for snapshots by flushing buffers to disk and momentarily suspending activity. 
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B. disconnected from their storage resources during the snapshot. 

C. using dynamic multipathing during a backup. 

D. mirrored with a host-based volume manager to be backed-up. 

Correct Answer: A 

 

QUESTION 5

Two alternatives to guaranteeing LUN space reservations during a snapshot on a volume with fractional reserve set to
0% can be: (Choose two.) 

A. LUN reset 

B. Snap Autodelete 

C. Volume AutoSize 

D. Snapshot Reserve 

Correct Answer: BC 
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